b caEA
S
Frt- BEREME R T HEFE @M IChO 2009)

LRGPP ¥
98 = 1 X[ 3 FI (EHf+ ) T 14:00~16:00

TEET 1120 £ 48
X H & A 1150 & (100%)

= U
o FEFMANBEVMALTI AWM - HETREHIATHEH -
° :;Bf{g” | —Uﬁ[ b3 > 53 7 gl 4 Fr 4l 10 FI(p.1~p.10) A4 5% -
SR 0 %@(ﬂ,ﬂ\ 108 53 > 72%)
- HIERE (1~24> H 2458 HFE255 *%Fkrf?mu;} ; ]’FIT487"}):
T o~ 23 (120> H 208 DEE3 ST "‘fﬁ‘j‘_j’ﬂfln C T
|’F'*607’})

TR - EEE HZAE H 42555 28%) T :;t P BT 2~3
F”FE'FIFFEEE’F% FA"‘ HE 5P R R uF;,l ;5 W ﬂ,:s&gj
R

& “Hit I:AT:{* T (p.1~p NP R (& I*A* P E By N o

o TEEEHTW LN W R EMT- F : ~p R WIS -
@%’ﬂﬁ @@P*Eﬁ - @Y EY ’ @%W%%

* VW% TR AR AR Eﬁ%’%%@~§@’@wmwg@

* }”Tﬁ?“ B BOURE (HERE(ER DFT) R prp e

PSP /L TET e

L :%&:%ﬁﬂﬁp 40 5 # TR IR
o UFEMH 120554 -
o = HPVE
%P B 10g2=0.301 ; 10g3=0.477
B E D HI101 He:4.00 C:12.01 N: 14.01 0: 16.00 Na: 23.0

Mg:24.31 Ca:40.1 Cu: 63.6 Ba: 137.3 Hg: 200.6  Al:27.0



F—-ﬁ?%’ﬁﬁﬁ D (;’ﬁ 108 57)

CEERE (15240 H 248 SR 25T FHEH1GT 0 448 5T)
L IR EL o (7 0

(A) 0.1M HCl (B) 0.1M NH,

(C) 0.1M H,BO, (D) 0.1M CH,COOH
AP AR (AP TR B R
(A) HCI== KCl (B) NH,Z= NH,CI
(C) Na,S== Na,SO, (D) NaOHZE* Na,CO,
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(A) CH, 4y +20,, = CO,yy +2H,0,y  AH = -890 kJ/mol

(B) C, +202(g) —CO, AH =-394 kJ/mol

(C) %C6H1206(5)+302(g) —3C0,,, +3H,0, AH = -1400 kJ/mol
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(D) CH;CHBrCHBrCH; (E) CH;CH,CHBrCH,Br
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(D) F'IFEECT kL HBr,
(E) f'liEECcT L HCI(g)
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(A) K EZnCl,

(B) ZnCl, » Pb(NO;3);
(C) CuS ¥ AgCl

(D) Fey(CO3); » Ni(OH),
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P A R ERPY pH i o (1A HPO, = B PREY S W K 5T AL -
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(A) 6.82 (B) 7.01 (C) 7.21 (D) 7.72 (E) 8.10
AN EES o (R P s RU RS Bﬁ‘ﬁ% ?

(A) BeCl, (B) BH4 (C) PCls (D) BF; (E) XeF4
IR R E T RLE e B W 2

(A) & (B) Sﬂ (C) & (D) # (E) &
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(A) KNORLWERR (" 97 > T F & [P= 1
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(A) C3Hg C-H (413) C-0 (358)
(B) C;H,0H O-H (463) 0=0 (495)
(C) C;Hs0CH;

(D) C;HsCHO C-C (348) C=0 (799)

(E) C;Hs;COOH
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(C) ERFES T > & HNO,
(D) ERFES T > % HNO
(E) T @=L &
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(A) CO; (B) CH3;OCH3; (C) H;0

(D) NO, (E) cis-(CH3)(H)=(H)(CH;)
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(A) Cl,
(B) NH,
(C) H.C,0,
(D) C,H.OH
(E) CH,COCH,
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(A) AP~ Ag" . NOy . cI
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(C) Mg . Na* . NO; . cI
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(E) Mg” . NH, . NO; . s*
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(E) 2Cr0,” +2H" —Cr,0;" +H,0
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(B) Xfli— &% S0,

(C) Xflr— 32 ) HBr
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(D) BT EHE : C>E>D
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A 7[]@3??‘3??’3& » X pH AT 77
(A) 1.0 MfYNaF

(B) 1.0 MPYNH;Y[12.0 MFYNH,4CI
(C) 1 x 10°* M HCI

(D) 1.0 M [¥ Na,S

(E) 1.0 M fi¥ CH;COOH
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(A) BYHAPPA R F> CL> Br > 1

(B) "F:'LTF‘TI BAUAN ] MHE-E, F>Cl>Br>1

(C) 75~ FyiEpyu—~ [ @55 HF > HCl > HBr > HI

(D) 53 PRIEAYA [ EH- £, HF > HCI > HBr > HI

(E) 5% §EfefoX [ £ HF > HCI > HBr > HI
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BN AR (X2 A B 4A2A)

(FEREAPRATS $ 10-12 FHRPHEEATS HPRELE2Z FRETH
FAAERFTETIFEY K 24)

- . (14 A)
0.76  0.24
(1)~ @4 #)A—>B  MgC,0, enH,0 — MgC,0, +nH,O
112 18n
(0.76/112)=(0.24/18n) n =2........ Ans
0.76  0.27
(2) ~ (4 ~)B—C MgC,0, — X
112 X

(0.76/112)=(0.27/X) X = 40 = 24 (Mg) + 16(0)........Ans: MgO

(3)~ (6 #)A—>B  MgC,0, enH,0 —> MgC,0, +nH,0 = f[i H,0 ()

B—>C  MgC,0, >MgO+CO,+CO=" [[I CO,(Z £ [*B) = CO (- & (")
=L (14 2)
W = R PR T Pty (T FIER) A &L cis-[PtCI(NH)o]; B &L
trans EPtCI (NHs)2]; C RL[PLCI2(NH3)4][PtCl4] (6 57)
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(3) T Pt() & ,3553 > dsp’ LY S (3 n)
(4) % PeqD PR AR [Xel 5d%3 53)

Z.(14 4)
(1) Mges 12888 1 (257), [CoNHsy CLI' CI' 3 57)
() SPE-PHE B, dSPICT 1D, 'SP ) 9 57)



